Ezxample 9: Let A =

01 3
and B =
2 3 21

4
]. Calculate det(A), det(B), det(AB), and

det(A + B). Also calculate det(AT) and det(BT). What do you observe?

det (A) =| 2 3] = () (21> =2

deb(B) = |4 2] = (@~ D==2

pe- 12011431 14 ]

deHAB) = |2 q‘[ = (2)(9) () =4

-x
deb(A) - deb (B = 2)(-2) = = ket (4B)

Quesht! Ts  der(A+B)= o‘o)‘(A)*o‘d‘%
A+B= T4 4] et (AeB) = [q H| _
[q q 4 4

1

T)<
det(AT) \0 7::)\:-1

A&(BT): 1 2" = -2

31

Ack(A)= det AT ad
dot(B) = clet (B

10!

/

JeH(A) D= 2+ ()< -y
dek(A +8)5# det(A) + det(1)

Theorem 4.8: If A and B are n X n matrices, then

det(AB) = det(A) det(B)  NGT addikive

\)
\leative

| \M\k\\.‘. P

Theorem 4.10: If A is a n X n matrix, then

det(AT) = det(A)



































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































